


O 80+20

@ 560 + 80



ol

Fol A J7H] = 1% kmol T, oA ol g7 = 23 km It}

tolA & A EolH7H = B2 km JU71?

_I

Lok

4
®3§km @4§)km @5%1{1&1
@ 6= km ® 6= km

8 8



(1) 0.5+ 0.9

(2) 0.4+ 0.3

@ (1)04 (207 @ (1)1.4(2)0.1

® (1)1

4(2) 0.8



2
1-x1=
3

3
4

® 3

— |

11 11
— 2— 2
12 @ 12 @

@1

1
1=
®2



6.

8 AN 2.




2 ol AU




8.

Oa= Al 2.

19 19
1— 2—
w 24 @ 24

19
3=~
@ 24

9
@3ﬂ




® 4.6

@ 8.54

— |

@ 4 ® 6

@ 73
4



10. the AgRANA W LT =T AT B oo,

= T
1
!
1 : (I
|
I
ST T A
e
o H
O HLBeAC @ W oBeL ® H=z=oAiar
@ Huoriaxo ® W imoz



!

Hr
|
<

o
B

o Srrt gt

=



12.

HO] ghe B4R Lehd 202 SHHE 2 12A0.

10 ol gt 7 9] H




LK

=
o

o
=

. o

AU

@ 6:7=12:14

® 3:5=15:25

@ 4:9=100:225

® 8:10=4:5

® 12:7=24:14



)
<=

Bl
=0

if]

i




15. =9 oA dEA FS o]F = ¥ = 2 AMAY7R?
]
() o0
] o0 000
° o0 000 0000
AR = A A A
@ 1871 ® 2174 @ 257H ® 2874

@ 1574



16. wo] zp2je] 227} 391 Al Zk2] &= FollA 71 4 9] vil-E 51
AlQ.

@® 392 @ 394 ® 396 @ 398 ® 399



17. v da#ze g30olH AEH S vehd Y
90 BF A wf 7 S verd A T A4 g2

lojul 42|
0 (%)

G

Ho
A

O A]EH]: 36 @ FAH] : 139 5000
® uSH 189y @ A= : 139500094



18.

1
@ 132%9F2] 1004} © 109 720099 i

® 1295001 2] 1000 H) ® 919 67052 1

1000

0600 06060 00066 6
@6, 006 06006 0




K

il
<
ld
)

16
o A

19.



20. o] zgcm, ofewio] 4§cm, Hol} 9§cm2 9l Afthe]Zol 9l
Ut} o] At Eo] kol Tt

1 1 1
@1%(3111 @2%0111 @35(;111
@ 4= cm ® 5= cm

2 2



